Knowledge Organiser - Careers connected to animals: =N , l 'y ' 4"‘
Year 4 - Animals doctor, veterinarian, dentist, { 4 é‘
including humans farmer, physiotherapist R ¢
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Key Vocabulary

r N | * The digestive system begins with the mouth
and teeth where food is ingested and chewed.
« Saliva is mixed with the food which helps to
break it up.
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Knowledge
Organiser: Year 4 -

A circuit contains a
battery (cell), wires and a
component that requires
electricity to work (bulb,
motor or buzzer).
Electrical current flows
through the wires from
the battery (cell) to the
bulb, motor or buzzer.

A switch can break or
reconnect a circuit.

A switch controls the
flow of the electrical
current around the
circuit. When the switch
is off, the current cannot
flow. This is not the same
as an incomplete circuit.
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Conductors and Insulators

Careers connected to
electricity:
electrician, electrical engineer

* Materials thatallow . ...
electricity to pass
through to create a
complete circuit are
called electrical
conductors. S
* Materials that do not
allow electricity to
pass through and do
not complete a circuit
are called electrical
insulators.

ctors
copper

insulators

“wood

plastic

swaen Simple Circuit

A complete circuit is
» a loop that allows
electrical current to
flow through wires.
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Simple Electrical Circuit

These are complete circuits - they have a battery (cell) and a component (bulb). The

wires are placed in the right places of the battery for the circuit to work.

Incomplete Circuit

No Battery Complete Circuit
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These circuits will not work as they are incomplete.

Electrical
Components
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Buzzer

Lamp
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‘ Battery
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Knowledge
Organiser: Sound

Careers connected to
sound:

audiologist, sound engineer

How sounds are made and travel

When objects vibrate, a sound is made. The

vibration makes the air around the object vibrate
and the air vibrations enter your ear. These are
called sound waves. If an object is making a sound,
a part of it is vibrating, even if you cannot see the
vibrations. Sound waves travel through a medium
(such as air, water, glass, stone, and brick).

Sound Reflection

How do we hear?

The sound waves travel to the ear and make the
eardrums vibrate. Messages are sent to the
brain which recognises the vibrations as sounds.

The pitch of a sound is how high or low it is. A
squeak of mouse has a high pitch A roar of a lion
has a low pitch.
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Low Frequency - Low Pitch - Low Sound High Frequency - High Pitch - High Sound

A high pitch sound is made because it has a
high frequency. The sound source vibrates
many times a second.
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The volume of a sound is how loud or quiet it is.
Quieter sounds have a smaller amplitude and
less energy (smaller vibrations) and louder
sounds have a bigger amplitude and more
energy. The closer we are to a sound source
the louder it will be. A train arriving at a station
sounds loud. The further away from a sound the
fainter it will be. A train in the distance sounds
quieter.
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Knowledge Organiser:
Living things and their
habitats Year 4

Careers connected to living things
and their habitats: animal care
practitioner, biologist, zoologist

Classification

Classification Keys

Key Vocabulary

to arrange things in classes or groups according to shared qualities or characteristics

Does the animal live on land?

yes | no

A

Does the animal
lay eggs?

Does the animal
have scales?

yes J_ no yes J— no
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Classification c|>'F Vertebrates

T
Warm-blooded

1
Cold-bllooded
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Knowledge Organiser: Careers connected to States of Matter:
Year 4 - States of Matter Chemical Engineer, Pharmacologist,

Pharmaceutical pharmacist, Chemist.

States of matter Changes of state
: Everything in our universe is made of States of matter can change.

Key Vocabulary
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E 30 00 o g ©
i + 4444 0000090 L ;
5 R ] ) ) oming
& + 44444+ 00099 o
ti g g % - .‘o"c ) |ouc.
3 E § - Solid Liquid Gas A S=5
THHHRRHINRE =
I.E' 2| 8|8 : g : Solid particles have strong bonds so Freezng Cootng Condensing
£ % s E % 'i 3 1 g :g solids have a fixed shape. Liquid Ice Water Water Vapour
E E 2 v o z particles have weaker bonds and more In water, the melting and freezing pointis 0°C and
2 i E £ % energy so liquids can change shape. the boiling point is 100 °C.
3 E 7|8 E E § Gas particles have really weak bonds so Different substances have different melting, freezing
g ﬁ g 3 5 2 g g § gases can spread out and move freely. and boiling points.
T |3 g g 8 &l ¢
3|2 AR AR
HHEIHEEIE I IR -
THEHTHHEHHE s e
|3
T HHEHT G
s 2|8 |8[8|8(8|5)8|¢8|¢8fé

b/ ST "
When water apour (9as) touches a cld Heating liquid water increases the particle’s
surface, the particles lose energy and energy and the bonds become weaker, turning it
the bonds become stronger, turning the into a gas. The hotter the temperature, the faster
L , . gasinto a liquid. the rate of evaporation.

water vapour

melting point
freezing point
boiling point
solid
liquid
gas
evaporation
particles




